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And he admitted to the barley; he is 1w  — =D 2Pw2 A7

OVERVIEW

The X 3 cites a mwn which states if the claim was for wheat and the
admission was for barley he is exempt.' mao1n explains what he is exempt
from.

mooIn explains that he is not only exempt from the "2 n¥12w but he is exempt -
£ (5 SN M BYY ,NY 47 xep x23) NN YATY NMNT *BINYWN 11 9N

also from paying for the barley which he admits owing; as is evident in the
X1 at the end of meanm pao.

SUMMARY
In a case of DMwwa % A7 oovn WYY he is exempt from everything;
including a n"21 ny1aw and paying for the 2>1vw which he admitted to.

THINKING IT OVER

If according to 3™ he is ‘@™ ww *» w5, then how is he 2™ M a NyAw
n"2m, seemingly he did not admit to anything, since he is MWD even NN
o ww?!

! The assumption is that wheat is more expensive than barley. If the claim was for a measure of wheat and
the admission was for an equal measure of barley (which is of lesser value), this is a case of nxpna 77n.
According to 3" he is 217 a n"21m n¥12w and according to the 0°non he is 7o (from a Ay1AW).

* The reason the defendant is exempt from paying the 2w (according to everyone [even 3", see the
mooIN in p"2 cited here (see ‘Thinking it over’)]), is because the claimant (by saying you owe me [only]
wheat) agrees that the defendant does not owe him barley. It is considered as if the claimant forfeits any
right to obtaining barley from the defendant.

? The X3 there cites a statement from N3 92 727 that 2*WW1A 9 373 0°00 1YL is MWD, The Xna asks that
this is a mawn! The X3 answered that from the 71wn I may have thought that he is 79 from the a°vn
(without a 71312w) but he is 2°°11 for the 2°Www; this is the ¥17°1 of 1"27 that he is MWD even D>MNYW H7A.

* See footnote # 2.

> See 1"nX # 91.
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